### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

RFB 4818 PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B BASE BID					Clark Pipeline 6229 Leop Corpus Chris	oard	l Street	Jhabores Construction Company Inc. P.O. BOX 60089 Corpus Christi,TX 78466			
ITEM	DESCRIPTION	UNIT	QTY	U	UNIT PRICE AMOUNT			UNIT PRICE	UNIT PRICE AM		
Part A - 0	GENERAL										
A1	Mobilization (Maximum 5% of Project Total)	LS	1	\$	12,300.00	\$	12,300.00	\$ 250,000.00	\$	250,000.00	
A2	Storm Water Pollution Prevention	EA	1	\$	12,300.00	\$	12,300.00	\$ 35,000.00	\$	35,000.00	
SUBTOTAL PART A - GENERAL (Items A1 thru A2)						\$	24,600.00		\$	285,000.00	
Part B - \	WATERLINE IMPROVEMENTS										
B1	Remove and Dispose of 6" Diam. CIP/DIP/PVC Waterline (Up to 5-ft of Cover)	LF	50	\$	12.60	\$	630.00	\$ 42.63	\$	2,131.50	
B2	Remove and Dispose of 8" Diam. CIP/DIP/PVC Waterline (Up to 5-ft of Cover)	LF	50	\$	15.75	\$	787.50	\$ 48.54	\$	2,427.00	
В3	Remove and Dispose of 10" Diam. CIP/DIP/PVC Waterline (Up to 5-ft of Cover)	LF	50	\$	15.75	\$	787.50	\$ 55.74	\$	2,787.00	
B4	Remove and Dispose of 12" Diam. CIP/DIP/PVC Waterline (Up to 5-ft of Cover)	LF	100	\$	28.35	\$	2,835.00	\$ 56.35	\$	5,635.00	
B5	Remove and Dispose of 16" Diam. CIP/DIP/PVC Waterline (Up to 5-ft of Cover)	LF	100	\$	29.40	\$	2,940.00	\$ 66.23	\$	6,623.00	
В6	Remove and Dispose of 20" Diam. CIP/DIP/PVC Waterline (Up to 5-ft of Cover)	LF	100	\$	29.40	\$	2,940.00	\$ 79.94	\$	7,994.00	
В7	Remove and Dispose of 24" Diam. CIP/DIP/PVC Waterline (Up to 5-ft of Cover)	LF	50	\$	39.90	\$	1,995.00	\$ 100.08	\$	5,004.00	
В8	Remove and Dispose of 6" Diam. ACP Waterline (Up to 5-ft of Cover)	LF	50	\$	70.22	\$	3,511.00	\$ 54.22	\$	2,711.00	
В9	Remove and Dispose of 8" Diam. ACP Waterline (Up to 5-ft of Cover)	LF	50	\$	70.22	\$	3,511.00	\$ 63.76	\$	3,188.00	

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

RFB 4818	Clark Pipeline Services, LLC	Jhabores Construction Company, Inc.
PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B	6229 Leopard Street	P.O. BOX 60089
BASE BID	Corpus Christi,TX 78409	Corpus Christi,TX 78466

		'	,				
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
B10	Remove and Dispose of 10" Diam. ACP Waterline (Up to 5-ft of Cover)	LF	50	\$ 70.22	\$ 3,511.00	\$ 69.97	\$ 3,498.50
B11	Remove and Dispose of 12" Diam. ACP Waterline (Up to 5-ft of Cover)	LF	20	\$ 74.63	\$ 1,492.60	\$ 76.61	\$ 1,532.20
B12	Remove and Dispose of 14" Diam. ACP Waterline (Up to 5-ft of Cover)	LF	20	\$ 74.63	\$ 1,492.60	\$ 96.12	\$ 1,922.40
B13	Remove and Dispose of 16" Diam. ACP Waterline (Up to 5-ft of Cover)	LF	20	\$ 76.11	\$ 1,522.20	\$ 127.08	\$ 2,541.60
B14	Remove and Dispose of 20" Diam. ACP Waterline (Up to 5-ft of Cover)	LF	20	\$ 76.11	\$ 1,522.20	\$ 189.47	\$ 3,789.40
B15	Remove and Dispose of 24" Diam. ACP Waterline (Up to 5-ft of Cover)	LF	20	\$ 76.11	\$ 1,522.20	\$ 373.91	\$ 7,478.20
B16	Furnish and Install 6" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (0 - 100 ft)	LF	20	\$ 91.54	\$ 1,830.80	\$ 63.86	\$ 1,277.20
B17	Furnish and Install 8" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (0 - 100 ft)	LF	20	\$ 102.32	\$ 2,046.40	\$ 84.76	\$ 1,695.20
B18	Furnish and Install 10" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (0 - 100 ft)	LF	20	\$ 102.32	\$ 2,046.40	\$ 107.30	\$ 2,146.00
B19	Furnish and Install 12" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (0 - 100 ft)	LF	20	\$ 129.00	\$ 2,580.00	\$ 123.50	\$ 2,470.00
B20	Furnish and Install 16" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (0 - 100 ft)	LF	20	\$ 147.69	\$ 2,953.80	\$ 172.56	\$ 3,451.20
B21	Furnish and Install 20" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (0 - 100 ft)	LF	20	\$ 181.44	\$ 3,628.80	\$ 240.02	\$ 4,800.40
B22	Furnish and Install 24" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (0 - 100 ft)	LF	20	\$ 275.60	\$ 5,512.00	\$ 322.22	\$ 6,444.40
B23	Furnish and Install 6" Diam. C900 DR18 PVC Waterline (Up to 5-ft Cover) (> 100 ft)	LF	100	\$ 89.18	\$ 8,918.00	\$ 63.86	\$ 6,386.00
					-		

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

	RFB 4818	Clark Pipeline Services, LLC	Jhabores Construction Company, Inc.
	PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B	6229 Leopard Street	P.O. BOX 60089
	BASE BID	Corpus Christi,TX 78409	Corpus Christi,TX 78466
_			

ITEM	DESCRIPTION	UNIT	QTY	U	INIT PRICE	,	AMOUNT	UNIT PRICE		AMOUNT
B24	Furnish and Install 8" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (> 100 ft)	LF	100	\$	94.53	\$	9,453.00	\$ 84.70	\$	8,470.00
B25	Furnish and Install 10" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (> 100 ft)	LF	100	\$	109.93	\$	10,993.00	\$ 107.30	\$	10,730.00
B26	Furnish and Install 12" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (> 100 ft)	LF	100	\$	116.55	\$	11,655.00	\$ 123.50	\$	12,350.00
B27	Furnish and Install 16" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (> 100 ft)	LF	100	\$	165.89	\$	16,589.00	\$ 170.14	\$	17,014.00
B28	Furnish and Install 20" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (> 100 ft)	LF	100	\$	197.69	\$	19,769.00	\$ 240.02	\$	24,002.00
B29	Furnish and Install 24" Diam. C900 DR18 PVC Waterline (Up to 5-ft of Cover) (> 100 ft)	LF	100	\$	251.83	\$	25,183.00	\$ 322.25	\$	32,225.00
B30	Extra Depth for PVC Waterline Installation for Each Vertical Foot Over 5-ft Cover, Added Linearly Along the Trench (All Pipe Sizes)	LF	5	\$	26.67	\$	133.35	\$ 20.00	\$	100.00
B31	Furnish and Install 6" Diam. DIP Waterline (Up to 5-ft of Cover)	LF	5	\$	170.20	\$	851.00	\$ 205.34	\$	1,026.70
B32	Furnish and Install 8" Diam. DIP Waterline (Up to 5-ft of Cover)	LF	5	\$	236.80	\$	1,184.00	\$ 294.51	\$	1,472.55
B33	Furnish and Install 10" Diam. DIP Waterline (Up to 5-ft of Cover)	LF	5	\$	253.23	\$	1,266.15	\$ 312.44	\$	1,562.20
B34	Furnish and Install 12" Diam. DIP Waterline (Up to 5-ft of Cover)	LF	5	\$	318.92	\$	1,594.60	\$ 392.56	\$	1,962.80
B35	Furnish and Install 16" Diam. DIP Waterline (Up to 5-ft of Cover)	LF	5	\$	498.96	\$	2,494.80	\$ 231.45	\$	1,157.25
B36	Furnish and Install 20" Diam. DIP Waterline (Up to 5-ft of Cover)	LF	5	\$	681.31	\$	3,406.55	\$ 318.78	\$	1,593.90
B37	Furnish and Install 24" Diam. DIP Waterline (Up to 5-ft of Cover)	LF	5	\$	910.34	\$	4,551.70	\$ 437.89	\$	2,189.45

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

RFB 4818	Clark Pipeline Services, LLC	Jhabores Construction Company, Inc.
PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B	6229 Leopard Street	P.O. BOX 60089
BASE BID	Corpus Christi,TX 78409	Corpus Christi,TX 78466

	<del></del>								
ITEM	DESCRIPTION	UNIT	QTY	U	JNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
B38	Extra Depth for DIP Waterline Installations for Each Vertical Foot Over 5-ft of Cover, Added Linearly Along the Trench (All Pipe Sizes)	LF	5	\$	128.80	\$ 644.00	\$ 45.00	\$ 225.00	
B39	Point Repair in Front Easement / ROW	EA	2	\$	3,042.02	\$ 6,084.04	\$ 6,822.86	\$ 13,645.72	
B40	Furnish and Install 8" Diam. C900 DR 18 Fusible PVC Waterline by HDD (0-300 ft)	LF	150	\$	269.72	\$ 40,458.00	\$ 384.00	\$ 57,600.00	
B41	Furnish and Install 10" Diam. C900 DR 18 Fusible PVC Waterline by HDD (0-300 ft)	LF	150	\$	303.61	\$ 45,541.50	\$ 442.00	\$ 66,300.00	
B42	Furnish and Install 12" Diam. C900 DR 18 Fusible PVC Waterline by HDD (0-300 ft)	LF	150	\$	340.78	\$ 51,117.00	\$ 512.00	\$ 76,800.00	
B43	Furnish and Install 14" Diam. C900 DR 18 Fusible PVC Waterline by HDD (0-300 ft)	LF	150	\$	410.03	\$ 61,504.50	\$ 592.00	\$ 88,800.00	
B44	Furnish and Install 16" Diam. C900 DR 18 Fusible PVC Waterline by HDD (0-300 ft)	LF	150	\$	546.97	\$ 82,045.50	\$ 671.00	\$ 100,650.00	
B45	Furnish and Install 20" Diam. C900 DR 18 Fusible PVC Waterline by HDD (0-300 ft)	LF	150	\$	688.26	\$ 103,239.00	\$ 865.00	\$ 129,750.00	
B46	Furnish and Install 24" Diam. C900 DR 18 Fusible PVC Waterline by HDD (0-300 ft)	LF	150	\$	865.00	\$ 129,750.00	\$ 1,095.00	\$ 164,250.00	
B47	Furnish and Install 8" Diam. C900 DR 18 Fusible PVC Waterline by HDD in Backyard Easement (0-300 ft)	LF	150	\$	585.00	\$ 87,750.00	\$ 384.00	\$ 57,600.00	
B48	Construct Drill Pads	EA	2	\$	9,375.00	\$ 18,750.00	\$ 8,850.00	\$ 17,700.00	
B49	Furnish and Install 8" Diam. C900 DR 18 Fusible PVC Waterline by HDD (> 300 ft)	LF	300	\$	253.72	\$ 76,116.00	\$ 326.00	\$ 97,800.00	
B50	Furnish and Install 10" Diam. C900 DR 18 Fusible PVC Waterline by HDD (> 300 ft)	LF	300	\$	303.61	\$ 91,083.00	\$ 376.00	\$ 112,800.00	
B51	Furnish and Install 12" Diam. C900 DR 18 Fusible PVC Waterline by HDD (> 300 ft)	LF	300	\$	340.78	\$ 102,234.00	\$ 436.00	\$ 130,800.00	

#### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

BID DATE: Wednesday, June 14, 2023

B65

	RFB 4818 PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 BASE BID	6229 Leo	e Services, LLC pard Street isti,TX 78409	Jhabores Construction Company, Inc. P.O. BOX 60089 Corpus Christi,TX 78466			
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
B52	Furnish and Install 14" Diam. C900 DR 18 Fusible PVC Waterline by HDD (> 300 ft)	LF	300	\$ 410.03	\$ 123,009.00	\$ 495.00	\$ 148,500.00
B53	Furnish and Install 16" Diam. C900 DR 18 Fusible PVC Waterline by HDD (> 300 ft)	LF	300	\$ 546.97	\$ 164,091.00	\$ 566.00	\$ 169,800.00
B54	Furnish and Install 8" Diam. C900 DR 18 Fusible PVC Waterline by HDD in Backyard Easement (> 300 ft)	LF	300	\$ 585.00	\$ 175,500.00	\$ 326.00	\$ 97,800.00
B55	Furnish and Install 6" R/W Gate Valve and Valve Box	EA	2	\$ 1,494.21	\$ 2,988.42	\$ 1,716.20	\$ 3,432.40
B56	Furnish and Install 8" R/W Gate Valve and Valve Box	EA	2	\$ 2,143.95	\$ 4,287.90	\$ 2,374.09	\$ 4,748.18
B57	Furnish and Install 10" R/W Gate Valve and Valve Box	EA	2	\$ 3,301.67	\$ 6,603.34	\$ 3,542.23	\$ 7,084.46
B58	Furnish and Install 12" R/W Gate Valve and Valve Box	EA	2	\$ 3,982.00	\$ 7,964.00	\$ 4,228.67	\$ 8,457.34
B59	Furnish and Install 16" R/W Gate Valve and Valve Box	EA	4	\$ 16,825.94	\$ 67,303.76	\$ 17,312.68	\$ 69,250.72
B60	Furnish and Install 20" R/W Gate Valve and Valve Box	EA	4	\$ 28,083.41	\$ 112,333.64	\$ 28,823.60	\$ 115,294.40
B61	Furnish and Install 24" R/W Gate Valve and Valve Box	EA	4	\$ 37,904.60	\$ 151,618.40	\$ 39,037.44	\$ 156,149.76
B62	Furnish and Install 30" R/W Gate Valve and Valve Box	EA	1	\$ 65,861.36	\$ 65,861.36	\$ 54,745.97	\$ 54,745.97
B63	Furnish and Install 36" R/W Gate Valve and Valve Box	EA	1	\$ 94,039.07	\$ 94,039.07	\$ 79,317.60	\$ 79,317.60
B64	Furnish and Install 6" Bends (MJ with Mega Lug Joint Restraint Fitting)	EA	5	\$ 406.55	\$ 2,032.75	\$ 648.49	\$ 3,242.45

EΑ

Furnish and Install 6" Reducers - All Sizes (MJ with Mega Lug Joint Restraint Fitting)

2 \$

326.63 \$

653.26 \$

590.51 \$

1,181.02

# PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

Furnish and Install 12" Tees (MJ with Mega Lug Joint Restraint Fitting)

BID DATE: Wednesday, June 14, 2023

	RFB 4818 PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 BASE BID	6229 Leop	Services, LLC pard Street sti,TX 78409	Jhabores Construction Company, Inc. P.O. BOX 60089 Corpus Christi,TX 78466			
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
B66	Furnish and Install 6" Crosses - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 722.52	\$ 1,445.04	\$ 1,134.43	\$ 2,268.86
B67	Furnish and Install 6" Tees (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 546.02	\$ 1,092.04	\$ 896.07	\$ 1,792.14
B68	Furnish and Install 8" Bends (MJ with Mega Lug Joint Restraint Fitting)	EA	5	\$ 541.06	\$ 2,705.30	\$ 772.27	\$ 3,861.35
B69	Furnish and Install 8" Reducers - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 400.42	\$ 800.84	\$ 661.93	\$ 1,323.86
B70	Furnish and Install 8" Crosses - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 890.13	\$ 1,780.26	\$ 1,202.54	\$ 2,405.08
B71	Furnish and Install 8" Tees (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 746.44	\$ 1,492.88	\$ 1,098.29	\$ 2,196.58
B72	Furnish and Install 10" Bends (MJ with Mega Lug Joint Restraint Fitting)	EA	5	\$ 826.84	\$ 4,134.20	\$ 1,054.40	\$ 5,272.00
B73	Furnish and Install 10" Reducers - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 575.69	\$ 1,151.38	\$ 827.81	\$ 1,655.62
B74	Furnish and Install 10" Crosses - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 1,459.28	\$ 2,918.56	\$ 1,760.90	\$ 3,521.80
B75	Furnish and Install 10" Tees (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 1,157.17	\$ 2,314.34	\$ 1,512.72	\$ 3,025.44
B76	Furnish and Install 12" Bends (MJ with Mega Lug Joint Restraint Fitting)	EA	5	\$ 1,003.42	\$ 5,017.10	\$ 1,196.54	\$ 5,982.70
B77	Furnish and Install 12" Reducers - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 740.84	\$ 1,481.68	\$ 960.32	\$ 1,920.64
B78	Furnish and Install 12" Crosses - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$ 1,900.83	\$ 3,801.66	\$ 2,302.93	\$ 4,605.86
	İ						

EΑ

2 \$

1,365.53 \$

2,731.06 \$

1,722.95 \$

3,445.90

#### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE **DESIGN ENGINEER: Freese and Nichols, Inc.** 

**B88** 

B89

B90

B91

B92

B93

Furnish and Install 24" Bends (MJ with Mega Lug Joint Restraint Fitting)

Furnish and Install 24" Tees (MJ with Mega Lug Joint Restraint Fitting)

Furnish and Install Copper or HDPE Short Service (Up to 5-ft of Cover)

Furnish and Install Copper or HDPE Long Service (Up to 5-ft of Cover)

Furnish and Install 24" Reducers - All Sizes (MJ with Mega Lug Joint Restraint Fitting)

Furnish and Install 24" Crosses - All Sizes (MJ with Mega Lug Joint Restraint Fitting)

	RFB 4818 PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B BASE BID					Servico pard Str sti,TX 7		Jhabores Construction Compar Inc. P.O. BOX 60089 Corpus Christi,TX 78466			
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE AMOUNT			UNIT PRICE	AMOUNT			
B80	Furnish and Install 16" Bends (MJ with Mega Lug Joint Restraint Fitting)	EA	5	\$	2,095.52	\$	10,477.60	\$ 2,251.12	\$	11,255.60	
B81	Furnish and Install 16" Reducers - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$	1,255.65	\$	2,511.30	\$ 1,597.85	\$	3,195.70	
B82	Furnish and Install 16" Crosses - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$	4,505.70	\$	9,011.40	\$ 4,445.62	\$	8,891.24	
B83	Furnish and Install 16" Tees (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$	2,887.76	\$	5,775.52	\$ 3,374.80	\$	6,749.60	
B84	Furnish and Install 20" Bends (MJ with Mega Lug Joint Restraint Fitting)	EA	5	\$	3,209.04	\$	16,045.20	\$ 3,416.90	\$	17,084.50	
B85	Furnish and Install 20" Reducers - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$	1,450.26	\$	2,900.52	\$ 2,462.74	\$	4,925.48	
B86	Furnish and Install 20" Crosses - All Sizes (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$	7,608.01	\$	15,216.02	\$ 7,618.18	\$	15,236.36	
B87	Furnish and Install 20" Tees (MJ with Mega Lug Joint Restraint Fitting)	EA	2	\$	4,106.86	\$	8,213.72	\$ 4,814.03	\$	9,628.06	

EΑ

EΑ

EΑ

EΑ

EΑ

EΑ

5 **\$** 

2 \$

2 \$

2 \$

100 \$

100 \$

4,471.96 \$

3,113.34 | \$

3,223.93 | \$

5,381.46 | \$

2,238.10

2,465.29

\$

22,359.80 \$

6,226.68 \$

6,447.86 \$

10,762.92 \$

223,810.00 \$

246,529.00 \$

4,468.85 \$

4,784.72 \$

9,023.03 \$

6,282.12 \$

3,064.08 \$

4,267.18 \$

22,344.25

9,569.44

18,046.06

12,564.24

306,408.00

426,718.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

RFB 4818			Clark Pipeline	Services, LLC	Jhabores Construction Comp Inc.			
PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B  BASE BID			6229 Leop Corpus Chri	pard Street sti,TX 78409	P.O. BOX 60089 Corpus Christi,TX 78466			
ITEM	ITEM DESCRIPTION UNIT QTY			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	

ITEM	DESCRIPTION	UNIT	QTY	Ul	NIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
B94	Reconnect Copper or HDPE Existing Service to Waterline	EA	4	\$	2,096.67	\$ 8,386.68	\$ 1,993.93	\$ 7,975.72
B95	Connection to Existing 6" Waterline (conventional sleeve and tee method)	EA	2	\$	2,217.02	\$ 4,434.04	\$ 3,433.76	\$ 6,867.52
B96	Connection to Existing 8" Waterline (conventional sleeve and tee method)	EA	2	\$	2,687.86	\$ 5,375.72	\$ 5,131.60	\$ 10,263.20
B97	Connection to Existing 10" Waterline (conventional sleeve and tee method)	EA	2	\$	3,404.79	\$ 6,809.58	\$ 5,975.00	\$ 11,950.00
B98	Connection to Existing 12" Waterline (conventional sleeve and tee method)	EA	4	\$	3,979.64	\$ 15,918.56	\$ 6,457.00	\$ 25,828.00
B99	Connection to Existing 14" Waterline (conventional sleeve and tee method)	EA	4	\$	5,311.70	\$ 21,246.80	\$ 4,916.00	\$ 19,664.00
B100	Connection to Existing 16" Waterline (conventional sleeve and tee method)	EA	4	\$	6,749.70	\$ 26,998.80	\$ 12,839.00	\$ 51,356.00
B101	Connection to Existing 20" Waterline (conventional sleeve and tee method)	EA	4	\$	9,123.37	\$ 36,493.48	\$ 15,374.00	\$ 61,496.00
B102	Connection to Existing 24" Waterline (conventional sleeve and tee method)	EA	4	\$	11,856.81	\$ 47,427.24	\$ 17,842.00	\$ 71,368.00
B103	Furnish and Install 6" Tapping Sleeve c/w 4" RW Gate Valve (hot tap method)	EA	1	\$	4,663.25	\$ 4,663.25	\$ 6,093.00	\$ 6,093.00
B104	Furnish and Install 8" Tapping Sleeve c/w 4" RW Gate Valve (hot tap method)	EA	1	\$	4,705.80	\$ 4,705.80	\$ 6,162.00	\$ 6,162.00
B105	Furnish and Install 8" Tapping Sleeve c/w 6" RW Gate Valve (hot tap method)	EA	1	\$	6,114.05	\$ 6,114.05	\$ 6,895.00	\$ 6,895.00
B106	Furnish and Install 10" Tapping Sleeve c/w 4" RW Gate Valve (hot tap method)	EA	1	\$	4,637.60	\$ 4,637.60	\$ 6,214.00	\$ 6,214.00
B107	Furnish and Install 10" Tapping Sleeve c/w 6" RW Gate Valve (hot tap method)	EA	1	\$	5,041.30	\$ 5,041.30	\$ 6,933.00	\$ 6,933.00

#### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

BID DATE: Wednesday, June 14, 2023

B121

Furnish and Install 24" Tapping Sleeve c/w 24" RW Gate Valve (hot tap method)

	RFB 4818 PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B BASE BID					Clark Pipeline Services, LLC 6229 Leopard Street Corpus Christi,TX 78409				Jhabores Construction Company Inc. P.O. BOX 60089 Corpus Christi,TX 78466				
ITEM	DESCRIPTION	UNIT	QTY	U	UNIT PRICE AMOUNT				IT PRICE		AMOUNT			
B108	Furnish and Install 12" Tapping Sleeve c/w 8" RW Gate Valve (hot tap method)	EA	1	\$	6,526.25	\$	6,526.25	\$	8,139.00	\$	8,139.00			
B109	Furnish and Install 12" Tapping Sleeve c/w 10" RW Gate Valve (hot tap method)	EA	1	\$	8,306.45	\$	8,306.45	\$	10,186.00	\$	10,186.00			
B110	Furnish and Install 16" Tapping Sleeve c/w 12" RW Gate Valve (hot tap method)	EA	1	\$	10,536.00	\$	10,536.00	\$	14,260.00	\$	14,260.00			
B111	Furnish and Install 16" Tapping Sleeve c/w 14" RW Gate Valve (hot tap method)	EA	1	\$	20,834.40	\$	20,834.40	\$	31,151.00	\$	31,151.00			
B112	Furnish and Install 20" Tapping Sleeve c/w 16" RW Gate Valve (hot tap method)	EA	1	\$	27,931.60	\$	27,931.60	\$	33,204.00	\$	33,204.00			
B113	Furnish and Install 24" Tapping Sleeve c/w 20" RW Gate Valve (hot tap method)	EA	1	\$	49,102.00	\$	49,102.00	\$	50,032.00	\$	50,032.00			
B114	Furnish and Install 6" Tapping Sleeve c/w 6" RW Gate Valve (hot tap method)	EA	1	\$	5,236.80	\$	5,236.80	\$	6,888.00	\$	6,888.00			
B115	Furnish and Install 8" Tapping Sleeve c/w 8" RW Gate Valve (hot tap method)	EA	1	\$	6,319.20	\$	6,319.20	\$	8,047.00	\$	8,047.00			
B116	Furnish and Install 10" Tapping Sleeve c/w 10" RW Gate Valve (hot tap method)	EA	1	\$	8,594.40	\$	8,594.40	\$	10,110.00	\$	10,110.00			
B117	Furnish and Install 12" Tapping Sleeve c/w 12" RW Gate Valve (hot tap method)	EA	1	\$	9,592.80	\$	9,592.80	\$	12,173.00	\$	12,173.00			
B118	Furnish and Install 14" Tapping Sleeve c/w 14" RW Gate Valve (hot tap method)	EA	1	\$	20,557.20	\$	20,557.20	\$	30,806.00	\$	30,806.00			
B119	Furnish and Install 16" Tapping Sleeve c/w 16" RW Gate Valve (hot tap method)	EA	1	\$	26,955.60	\$	26,955.60	\$	29,370.00	\$	29,370.00			
B120	Furnish and Install 20" Tapping Sleeve c/w 20" RW Gate Valve (hot tap method)	EA	1	\$	44,116.00	\$	44,116.00	\$	48,122.00	\$	48,122.00			

EΑ

1 \$

61,343.20 | \$

61,343.20 \$

60,828.00 \$

60,828.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

	RFB 4818			Clark Pipeline	Services, LLC	Jhabores Construction Compa Inc.			
	PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY202 BASE BID	23 Part B		6229 Leor Corpus Chri	oard Street sti,TX 78409	P.O. BOX 60089 Corpus Christi,TX 78466			
ITEM DESCRIPTION UNIT QTY		UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT				

ITEM	DESCRIPTION	UNIT	QTY	ļ	JNIT PRICE		AMOUNT	UNIT PRICE		AMOUNT
B122	Furnish and Install FH Assembly Long Lead (Tee, Pipe and Valve) Greater than 14' in Length	EA	4	\$	7,116.24	\$	28,464.96	\$ 10,039.00	\$	40,156.00
B123	Furnish and Install FH Assembly Short Lead (Tee, Pipe and Valve) Up to 14' in Length	EA	4	\$	7,428.74	\$	29,714.96	\$ 8,822.00	\$	35,288.00
B124	Remove Existing Fire Hydrant	EA	2	\$	1,372.07	\$	2,744.14	\$ 1,600.00	\$	3,200.00
B125	Furnish and Install Water Meter Box	EA	2	\$	1,112.54	\$	2,225.08	\$ 138.00	\$	276.00
B126	Furnish and Install 16" Valve Vault	EA	1	\$	19,614.14	\$	19,614.14	\$ 45,383.00	\$	45,383.00
B127	Furnish and Install 20" Valve Vault	EA	1	\$	30,872.21	\$	30,872.21	\$ 57,045.00	\$	57,045.00
B128	Furnish and Install 24" Valve Vault	EA	1	\$	40,693.40	\$	40,693.40	\$ 74,780.00	\$	74,780.00
B129	Furnish and Install 30" Valve Vault	EA	1	\$	57,126.96	\$	57,126.96	\$ 96,440.00	\$	96,440.00
B130	Furnish and Install 36" Valve Vault	EA	1	\$	80,608.39	\$	80,608.39	\$ 108,590.00	\$	108,590.00
B131	Adjust Valve Box, 14" and Under	EA	1	\$	570.00	\$	570.00	\$ 1,154.00	\$	1,154.00
B132	Adjust Valve Box, Greater than 14"	EA	1	\$	570.00	\$	570.00	\$ 1,360.00	\$	1,360.00
B133	Trench Safety for Remove and Install Waterline (Up to 5-ft of Cover)	LF	500	\$	12.30	\$	6,150.00	\$ 75.00	\$	37,500.00
B134	Extra Depth for Trench Safety for Remove and Install CIP/DIP/PVC Waterline (All Pipe Sizes)	LF	100	\$	30.75	\$	3,075.00	\$ 30.00	\$	3,000.00
B135	Trench Safety for Horizontal Directional Drill Pits (All Pipe Sizes)	EA	10	\$	307.50	\$	3,075.00	\$ 2,250.00	\$	22,500.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

RFB 4818	Clark Pipeline Services, LLC	Jhabores Construction Company, Inc.
PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B	6229 Leopard Street	P.O. BOX 60089
BASE BID	Corpus Christi,TX 78409	Corpus Christi,TX 78466

							<u> </u>				
ITEM	DESCRIPTION	UNIT	QTY	U	INIT PRICE	AMOUNT	UNIT PRICE		AMOUNT		
B136	Furnish and Install Cement Stabilized Sand	TONS	50	\$	615.00	\$ 30,750.00	\$ 150.00	\$	7,500.00		
B137	Clearing and Grubbing	AC	1	\$	3,075.00	\$ 3,075.00	\$ 2,800.00	\$	2,800.00		
B138	Furnish and Install Asphalt Pavement Repair	SY	50	\$	156.25	\$ 7,812.50	\$ 240.00	\$	12,000.00		
B139	Sawcut Asphalt (All thickness)	LF	20	\$	430.50	\$ 8,610.00	\$ 9.80	\$	196.00		
B140	Furnish and Install Asphalt Overlay Per 2" lift greater than 2" thickness	SY	10	\$	43.05	\$ 430.50	\$ 45.00	\$	450.00		
B141	Remove Asphalt Per 2" lift greater than 2" thickness	SY	10	\$	19.68	\$ 196.80	\$ 12.00	\$	120.00		
B142	Furnish and Install Compacted Limestone Base per 2" depth	SY	5	\$	159.60	\$ 798.00	\$ 16.00	\$	80.00		
B143	Furnish and Install Compacted Limestone Base per 4" depth	SY	5	\$	319.20	\$ 1,596.00	\$ 24.00	\$	120.00		
B144	Furnish and Install Compacted Limestone Base per 6" depth	SY	5	\$	431.20	\$ 2,156.00	\$ 32.00	\$	160.00		
B145	Furnish and Install Concrete Pavement Repair	SF	100	\$	69.89	\$ 6,989.00	\$ 55.00	\$	5,500.00		
B146	Sawcut Concrete Per 2" lift greater than 8" thickness	LF	100	\$	9.23	\$ 923.00	\$ 6.00	\$	600.00		
B147	Furnish and Install Concrete Thickness per 2" Greater than 8" thickness	SF	100	\$	79.95	\$ 7,995.00	\$ 35.00	\$	3,500.00		
B148	Remove Concrete Per 2" lift greater than 8" thickness	SF	100	\$	30.75	\$ 3,075.00	\$ 15.00	\$	1,500.00		
B149	Furnish and Install Concrete Driveway Repair	SF	100	\$	29.30	\$ 2,930.00	\$ 29.00	\$	2,900.00		

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

RFB 4818	Clark Pipeline Services, LLC	Jhabores Construction Company, Inc.
PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B	6229 Leopard Street	P.O. BOX 60089
BASE BID	Corpus Christi,TX 78409	Corpus Christi,TX 78466

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE		AMOUNT	UNIT PRICE	,	AMOUNT
B150	Furnish and Install Concrete Curb Ramp Repair	SF	100	\$ 52.2	8 \$	5,228.00	\$ 48.00	\$	4,800.00
B151	Furnish and Install Concrete Curb and Gutter Repair	LF	100	\$ 39.3	6 \$	3,936.00	\$ 45.00	\$	4,500.00
B152	Furnish and Install Concrete Valley Gutter Repair	LF	100	\$ 56.4	0 \$	5,640.00	\$ 50.00	\$	5,000.00
B153	Furnish and Install Concrete Sidewalk Repair	SF	100	\$ 25.2	0 \$	2,520.00	\$ 25.00	\$	2,500.00
B154	Furnish and Install Seeding	SY	100	\$ 2.5	8 \$	258.00	\$ 3.00	\$	300.00
B155	Furnish and Install Sodding	SY	100	\$ 19.6	8 \$	1,968.00	\$ 25.00	\$	2,500.00
B156	Furnish and Install Wooden Fence	LF	100	\$ 55.3	5 \$	5,535.00	\$ 55.00	\$	5,500.00
B157	Furnish and Install Chain Link Fencing	LF	100	\$ 67.6	5 \$	6,765.00	\$ 60.00	\$	6,000.00
B158	Haul off Concrete (Greater than 8 inches in thickness)/Asphalt (Greater than 2 inches thickness)	HR	2	\$ 190.6	5 \$	381.30	\$ 95.00	\$	190.00
B159	Tree Removal 4" - 8" in Dia.	EA	1	\$ 450.0	0 \$	450.00	\$ 550.00	\$	550.00
B160	Tree Removal Greater than 8" in Dia.	EA	1	\$ 900.0	0 \$	900.00	\$ 890.00	\$	890.00
B161	Remove and Replace Existing Wooden Fence	LF	50	\$ 36.0	0 \$	1,800.00	\$ 45.00	\$	2,250.00
B162	Remove and Replace Existing Chainlink Fence	LF	50	\$ 42.0	0 \$	2,100.00	\$ 55.00	\$	2,750.00
B163	Furnish and Install Silt Fence	LF	20	\$ 6.1	3 \$	122.60	\$ 4.85	\$	97.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc. BID DATE: Wednesday, June 14, 2023

RFB 4818	Clark Pipeline Services, LLC	Jhabores Construction Company, Inc.
PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B	6229 Leopard Street	P.O. BOX 60089
BASE BID	Corpus Christi,TX 78409	Corpus Christi,TX 78466

ITEM	DESCRIPTION	UNIT	QTY	U	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
B164	Furnish and Install Fiber Rolls	LF	5	\$	21.73	\$ 108.65	\$ 32.00	\$ 160.00	
B165	Furnish and Install Rock Filter Dam	LS	1	\$	3,000.00	\$ 3,000.00	\$ 2,900.00	\$ 2,900.00	
B166	Furnish and Install Construction Entrance/Exit	LS	1	\$	8,625.00	\$ 8,625.00	\$ 3,560.00	\$ 3,560.00	
B167	Furnish and Install Well Pointing for Waterline Installation (Up to 5-ft of Cover)	LF	20	\$	211.50	\$ 4,230.00	\$ 45.00	\$ 900.00	
B168	Extra Depth for Well Pointing for Waterline Installation for Each Vertical Foot Over 5-ft of Cover, Added Linearly Along the Trench (All Pipe Sizes)	LF	20	\$	237.00	\$ 4,740.00	\$ 25.00	\$ 500.00	
B169	Curb Inlet Protection	LF	10	\$	75.00	\$ 750.00	\$ 45.00	\$ 450.00	
B170	Owner Directed Pothole Utility	EA	5	\$	5,075.25	\$ 25,376.25	\$ 4,850.00	\$ 24,250.00	
B171	CCTV inspection of Existing Utility (6" to 24" Dia.)	LF	100	\$	46.74	\$ 4,674.00	\$ 6.00	\$ 600.00	
B172	Furnish and Install 6" Dia. Waterline Cap	EA	2	\$	564.63	\$ 1,129.26	\$ 153.00	\$ 306.00	
B173	Furnish and Install 8" Dia. Waterline Cap	EA	2	\$	552.06	\$ 1,104.12	\$ 223.00	\$ 446.00	
B174	Furnish and Install 10" Dia. Waterline Cap	EA	2	\$	597.99	\$ 1,195.98	\$ 341.00	\$ 682.00	
B175	Furnish and Install 12" Dia. Waterline Cap	EA	2	\$	623.71	\$ 1,247.42	\$ 412.00	\$ 824.00	
B176	Furnish and Install 14" Dia. Waterline Cap	EA	2	\$	901.34	\$ 1,802.68	\$ 636.00	\$ 1,272.00	
B177	Furnish and Install 16" Dia. Waterline Cap	EA	2	\$	1,153.82	\$ 2,307.64	\$ 840.00	\$ 1,680.00	

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

	RFB 4818			Clark Pipeline	Services, LLC	Jhabores Construction Compa Inc.			
PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B					oard Street	P.O. BOX 60089			
	BASE BID			Corpus Chri	sti,TX 78409	Corpus Chris	sti,TX 78466		
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		

ITEM	DESCRIPTION	UNIT	QTY	ι	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
B178	Furnish and Install 20" Dia. Waterline Cap	EA	2	\$	1,726.17	\$ 3,452.34	\$ 1,302.00	\$	2,604.00
B179	Furnish and Install 24" Dia. Waterline Cap	EA	2	\$	2,140.78	\$ 4,281.56	\$ 1,637.00	\$	3,274.00
B180	Emergency - Trench Excavation Safety Protection (All Depths)	LF	500	\$	18.75	\$ 9,375.00	\$ 85.00	\$	42,500.00
B181	Emergency - Point Repair in Front Easement/ROW, 2" Dia. Water Line (All Depths)	EA	1	\$	4,465.59	\$ 4,465.59	\$ 4,000.00	\$	4,000.00
B182	Emergency - Point Repair in Rear/Side Easement, 2" Dia. Water Line (All Depths)	EA	1	\$	5,909.86	\$ 5,909.86	\$ 4,800.00	\$	4,800.00
B183	Emergency - Point Repair in Front Easement/ROW, 4" Dia. Water Line (All Depths)	EA	1	\$	5,071.23	\$ 5,071.23	\$ 4,597.00	\$	4,597.00
B184	Emergency - Point Repair in Rear/Side Easement, 4" Dia. Water Line (All Depths)	EA	1	\$	5,916.44	\$ 5,916.44	\$ 5,340.00	\$	5,340.00
B185	Emergency - Point Repair in Front Easement/ROW, 6" Dia. Water Line (All Depths)	EA	1	\$	5,474.49	\$ 5,474.49	\$ 5,000.00	\$	5,000.00
B186	Emergency - Point Repair in Rear/Side Easement, 6" Dia. Water Line (All Depths)	EA	1	\$	9,386.91	\$ 9,386.91	\$ 5,859.00	\$	5,859.00
B187	Emergency - Point Repair in Front Easement/ROW, 8" Dia. Water Line (All Depths)	EA	1	\$	6,053.76	\$ 6,053.76	\$ 6,250.00	\$	6,250.00
B188	Emergency - Point Repair in Rear/Side Easement, 8" Dia. Water Line (All Depths)	EA	1	\$	9,062.72	\$ 9,062.72	\$ 7,000.00	\$	7,000.00
B189	Emergency - Point Repair in Front Easement/ROW, 10" Dia. Water Line (All Depths)	EA	1	\$	10,743.93	\$ 10,743.93	\$ 12,445.00	\$	12,445.00
B190	Emergency - Point Repair in Rear/Side Easement, 10" Dia. Water Line (All Depths)	EA	1	\$	12,534.59	\$ 12,534.59	\$ 12,445.00	\$	12,445.00
B191	Emergency - Point Repair in Front Easement/ROW, 12" Dia. Water Line (All Depths)	EA	1	\$	11,420.54	\$ 11,420.54	\$ 13,793.00	\$	13,793.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

	RFB 4818 PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B BASE BID					oard	vices, LLC Street X 78409	Jhabores Constr In P.O. BO Corpus Chris	0089	
ITEM	DESCRIPTION	UNIT	QTY	U	JNIT PRICE		AMOUNT	UNIT PRICE		AMOUNT
B192	Emergency - Point Repair in Rear/Side Easement, 12" Dia. Water Line (All Depths)	EA	1	\$	13,323.96	\$	13,323.96	\$ 13,793.00	\$	13,793.00
B193	Emergency - Point Repair in Front Easement/ROW, 16" Dia. Water Line (All Depths)	EA	1	\$	23,112.27	\$	23,112.27	\$ 18,447.00	\$	18,447.00
B194	Emergency - Point Repair in Rear/Side Easement, 16" Dia. Water Line (All Depths)	EA	1	\$	19,810.52	\$	19,810.52	\$ 18,447.00	\$	18,447.00
B195	Emergency - Point Repair in Front Easement/ROW, 20" Dia. Water Line (All Depths)	EA	1	\$	38,633.02	\$	38,633.02	\$ 28,264.00	\$	28,264.00
B196	Emergency - Point Repair in Rear/Side Easement, 20" Dia. Water Line (All Depths)	EA	1	\$	33,114.02	\$	33,114.02	\$ 28,264.00	\$	28,264.00
B197	Emergency - Point Repair in Front Easement/ROW, 24" Dia. Water Line (All Depths)	EA	1	\$	41,235.69	\$	41,235.69	\$ 37,146.00	\$	37,146.00
B198	Emergency - Point Repair in Rear/Side Easement, 24" Dia. Water Line (All Depths)	EA	1	\$	35,344.88	\$	35,344.88	\$ 37,146.00	\$	37,146.00
B199	Emergency - Extra Length Point Repair in Front Easement/ROW, 2" Dia. Water Line (All Depths)	LF	2	\$	446.56	\$	893.12	\$ 732.00	\$	1,464.00
B200	Emergency - Extra Length Point Repair in Rear/Side Easement, 2" Dia. Water Line (All Depths)	LF	2	\$	620.99	\$	1,241.98	\$ 732.00	\$	1,464.00
B201	Emergency - Extra Length Point Repair in Front Easement/ROW, 4" Dia. Water Line (All Depths)	LF	2	\$	507.12	\$	1,014.24	\$ 738.00	\$	1,476.00
B202	Emergency - Extra Length Point Repair in Rear/Side Easement, 4" Dia. Water Line (All Depths)	LF	2	\$	791.64	\$	1,583.28	\$ 738.00	\$	1,476.00
B203	Emergency - Extra Length Point Repair in Front Easement/ROW, 6" Dia. Water Line (All Depths)	LF	2	\$	547.45	\$	1,094.90	\$ 747.00	\$	1,494.00
B204	Emergency - Extra Length Point Repair in Rear/Side Easement, 6" Dia. Water Line (All Depths)	LF	2	\$	838.69	\$	1,677.38	\$ 747.00	\$	1,494.00
B205	Emergency - Extra Length Point Repair in Front Easement/ROW, 8" Dia. Water Line (All Depths)	LF	2	\$	605.38	\$	1,210.76	\$ 758.00	\$	1,516.00

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

	RFB 4818		Clark Pipeline	Services, LLC	Jhabores Construction Company, Inc.			
	PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B BASE BID			l '	oard Street sti,TX 78409	P.O. BOX 60089 Corpus Christi,TX 78466		
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	

										, , , , , , , , , , , , , , , , , , , ,			
ITEM	DESCRIPTION	UNIT	QTY	UNIT	F PRICE		AMOUNT	UNIT PRICE	AMOUNT				
B206	Emergency - Extra Length Point Repair in Rear/Side Easement, 8" Dia. Water Line (All Depths)	LF	2	\$	906.27	\$	1,812.54	\$ 758.00	\$	1,516.00			
B207	Emergency - Extra Length Point Repair in Front Easement/ROW, 10" Dia. Water Line (All Depths)	LF	2	\$	1,074.39	\$	2,148.78	\$ 772.00	\$	1,544.00			
B208	Emergency - Extra Length Point Repair in Rear/Side Easement, 10" Dia. Water Line (All Depths)	LF	2	\$	1,253.46	\$	2,506.92	\$ 955.00	\$	1,910.00			
B209	Emergency - Extra Length Point Repair in Front Easement/ROW, 12"Dia. Water Line (All Depths)	LF	2	\$	1,142.05	\$	2,284.10	\$ 955.00	\$	1,910.00			
B210	Emergency - Extra Length Point Repair in Rear/Side Easement, 12" Dia. Water Line (All Depths)	LF	2	\$	1,332.40	\$	2,664.80	\$ 972.00	\$	1,944.00			
B211	Emergency - Extra Length Point Repair in Front Easement/ROW, 16" Dia. Water Line (All Depths)	LF	2	\$	1,981.05	\$	3,962.10	\$ 1,011.00	\$	2,022.00			
B212	Emergency - Extra Length Point Repair in Rear/Side Easement, 16" Dia. Water Line (All Depths)	LF	2	\$	2,311.23	\$	4,622.46	\$ 1,315.00	\$	2,630.00			
B213	Emergency - Extra Length Point Repair in Front Easement/ROW, 20" Dia. Water Line (All Depths)	LF	2	\$	3,311.40	\$	6,622.80	\$ 1,364.00	\$	2,728.00			
B214	Emergency - Extra Length Point Repair in Rear/Side Easement, 20" Dia. Water Line (All Depths)	LF	2	\$	3,863.30	\$	7,726.60	\$ 1,972.00	\$	3,944.00			
B215	Emergency - Extra Length Point Repair in Front Easement/ROW, 24" Dia. Water Line (All Depths)	LF	2	\$	3,534.49	\$	7,068.98	\$ 2,040.00	\$	4,080.00			
B216	Emergency - Extra Length Point Repair in Rear/Side Easement, 24" Dia. Water Line (All Depths)	LF	2	\$	4,123.57	\$	8,247.14	\$ 3,866.00	\$	7,732.00			
B217	Emergency - Remove and Replace Asphalt Pavement, 3" HMAC and 12" Limestone Base	SY	50	\$	254.73	\$	12,736.50	\$ 250.00	\$	12,500.00			
B218	Emergency - Remove and Replace Concrete Pavement, up to 12" Thick	SY	80	\$	218.75	\$	17,500.00	\$ 450.00	\$	36,000.00			
B219	Emergency - Furnish and Install Temporary Asphalt Pavement, Up to 8" Thick	SY	50	\$	159.30	\$	7,965.00	\$ 225.00	\$	11,250.00			
				_									

#### **PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS**

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

RFB 4818  PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B  BASE BID			Clark Pipeline Services, LLC 6229 Leopard Street Corpus Christi,TX 78409				Jhabores Construction Company, Inc. P.O. BOX 60089 Corpus Christi,TX 78466				
ITEM	DESCRIPTION	UNIT	QTY	UN	IT PRICE		AMOUNT	UNIT PRICE		AMOUNT	
B220	Emergency - Flowable Fill Backfill, Complete and In-Place	CY	40	\$	226.80	\$	9,072.00	\$ 185.00	\$	7,400.00	
B221	Emergency - Cement Stabilized Sand, Complete and In-Place	TONS	100	\$	180.00	\$	18,000.00	\$ 120.00	\$	12,000.00	
B222	Emergency - Site Restoration with Seeding	SF	100	\$	2.52	\$	252.00	\$ 4.00	\$	400.00	
B223	Emergency - Site Restoration with Sodding	SF	100	\$	20.80	\$	2,080.00	\$ 25.00	\$	2,500.00	
B224	Emergency - Remove and Replace Chainlink Fence	LF	50	\$	66.00	\$	3,300.00	\$ 65.00	\$	3,250.00	
B225	Emergency - Remove and Replace Wooden Fence	LF	50	\$	54.00	\$	2,700.00	\$ 55.00	\$	2,750.00	
B226	Emergency - Install New Chainlink Fence	LF	25	\$	66.00	\$	1,650.00	\$ 65.00	\$	1,625.00	
B227	Emergency - Install New Wooden Fence	LF	25	\$	54.00	\$	1,350.00	\$ 58.00	\$	1,450.00	
B228	Emergency - Remove and Replace Concrete Driveway	SF	100	\$	12.60	\$	1,260.00	\$ 45.00	\$	4,500.00	
B229	Emergency - Remove and Replace Concrete Sidewalk	SF	100	\$	15.60	\$	1,560.00	\$ 33.00	\$	3,300.00	
B230	Emergency - Remove and Replace Curb and Gutter	LF	150	\$	45.60	\$	6,840.00	\$ 65.00	\$	9,750.00	
B231	Emergency - Furnish and Install Copper or HDPE Short Service (Up to 5-ft of Cover)	EA	50	\$	1,986.90	\$	99,345.00	\$ 1,960.00	\$	98,000.00	
B232	Emergency - Furnish and Install Copper or HDPE Long Service (Up to 5-ft of Cover)	EA	10	\$	2,076.87	\$	20,768.70	\$ 1,935.00	\$	19,350.00	
	SUBTOTAL PART B - WATER IMPROVEMENTS (Item	ns B1 th	ru B232)	\$ 4,220,822.61				\$ 5,026,027.87			

### PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

TABULATED BY: Dhruv Deshmukh, PE DESIGN ENGINEER: Freese and Nichols, Inc.

RFB 4818 PROJECT NO. 23107 Citywide Waterline Repair/Replace - Large Diameter IDIQ FY2023 Part B BASE BID			Clark Pipeline Services, LLC 6229 Leopard Street Corpus Christi,TX 78409				Jhabores Construction Company, Inc. P.O. BOX 60089 Corpus Christi,TX 78466				
ITEM	DESCRIPTION	UNIT	QTY	ι	INIT PRICE	AMOUNT		AMOUNT UNIT PRICE			AMOUNT
Part C - ALLOWANCE											
C1	Bonds and Insurance (Maximum of 2% of Project Total)	AL	1	\$	75,974.00	\$	75,974.00	\$	70,000.00	\$	70,000.00
C2	Preparation and Implementation of Traffic Control Plans	AL	1	\$	150,000.00	\$	150,000.00	\$	150,000.00	\$	150,000.00
C3	Disposal of Contaminated Ground Water	AL	1	\$	25,000.00	\$	25,000.00	\$	25,000.00	\$	25,000.00
C4	Miscellaneous Utility Improvements	AL	1	\$	100,000.00	\$	100,000.00	\$	100,000.00	\$	100,000.00
C5	Services of a State Licensed Surveyor	AL	1	\$	30,000.00	\$	30,000.00	\$	30,000.00	\$	30,000.00
C6	Other Emergency Items	AL	1	\$	100,000.00	\$	100,000.00	\$	100,000.00	\$	100,000.00
C7	Furnish and Install Line Stop (all sizes) and Other Unanticipated Water Improvements	AL	1	\$	200,000.00	\$	200,000.00	\$	200,000.00	\$	200,000.00
	SUBTOTAL PART C - ALLOWANCE (Items C1 thru C7)				\$	680,974.00			\$	675,000.00	
	TOTAL BASE BID		\$		4,9	26,396.61	\$		5,9	36,027.87	

<sup>\*\*\*\*</sup> Notes regarding any bidder deemed Non-Responsive or Non-Responsible\*\*\*\*\*